both in the alarm clock problem and in the high tide problem.

@ The use of pictures was more helpful in solving the high tide
problem than the use of imagination was.

® In the alarm clock problem, John was awakened when the alarm
rang before 9 a.m.

@ In the high tide problem, it is important to remember that the boat

stays where it is while the sea level rises along its sides.
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Can we get a better understanding of a situation if we create clear
images of it in our mind?

(a) The alarm clock problem: “At 8 p.m., John set his old-style alarm
clock to wake him up at 9 o’clock the next morning.

(b) The high tide problem: “A ladder with six steps was hanging from
a boat above the calm sea.

The groups were each made up of 35 children aged 13-14, chosen at
random.

The number of correct and incorrect answers for each question is
shown in Table 1 and Table 2.

RGP TERREE 20D E L1

O HHoFUC 7 ) TRA X —VEF - I ENTENR, KRIIEF LD L BEET
XBRIEAHID?

@ [HREZ LR & N Eus)] ofd@stis i,

® WERERI3~14F DIBADTHIETH - 72,

@ [FEEBEZOHEL. 2nEKIcHTVLE,

Flg2 : o 2B ERES
EDGAONTOETOT, £ES > LHATRLORKGES SIS LE T,



